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Extension:
What if a zombie entered the Mercedes-Benz Stadium in Atlanta, GA? The capacity of the stadium is 71,000 people. 
Estimate how many minutes it will take for the whole stadium to be infected IF…
The original strain A zombie walks into the stadium.		____________________
One strain B zombie walks into the stadium.			____________________
Now, determine how many minutes it will take for the whole Mercedes-Benz Stadium to be infected IF…

	Strain A zombie walks into the stadium
	Strain B walks into the stadium
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Zombie Aitack! @

Backaround
2 strains of a zombie virus have been discovered in The United States. Each strain is
described below.

Strain A Strain B
Each minute, the original zombie Each minute, every zombie is able fo
“infects” 3 new people, but the new infect 1 person. New zombies are able
zombies cannot infect anyone. to infect people.

Make a predi !
Which strain will create more zombies affer 10 minutesg Explain your thinking.

Zombie Attack!
Let's begin the simulation. I you get infected with the zombie virus you must repert your
name fo the CDC (Center for Disease Control) on the minute you were infected, so they
can frack fhe virus.

Tracking the virus.
Use the CDC minute reports from the board fo complete the tables below to track the
number of zombies after each minute.

Strain A Strain B
Minutes | # Zombies Minutes | # Zombies
0 0
1 1
e 2 2 NOW,
3 3 graph the
4 4 data from
5 5 the tables!
s 6
7 7 —>
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Tracking the virus (continued]
Use data from the tables to sketch the graphs of each strain of the zombie virus.
Y STRAIN A Y STRAIN B
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1. If a zombie outbreak occurred at the school, which of the two strains below would you prefer it to
be? Explain why.
¢ Strain 1: One zombie infects 20 people each day. Only the original zombie can infect people
L;:; Strain 2: Each zombie infects 3 people each day. New zombies also infect 3 people each day.

2. How many days would it take for the entire student body to become infected with the virus for each
strain?

Strain 1: Strain 2:





